
Some people think cars are a better way of transportation around the city, while others 
prefer cycling. Discuss both views and give your opinion.

Nowadays people have a variety of choices of means of transports to travel around the urban 
areas. Due to their definite advantages, bikes have its their own supporters while many still 
prefer to drive a car. Although there are certainly valid arguments against considering bikes as a 
means of transportation I, personally, believe driving a car is not an informed choice.

Those who are of the idea that cars are still the better option than bikes mainly opine that not 
everyone can ride a bicycle. Senior citizens, children and people with even minor disabilities 
might have difficultyies using bikes. Despite the clear physical disadvantages of driving a car this 
means of transport allows us to travel with at least four other passengers which clearly this is 
not feasible by bikes. Only in this way are family trips possible.

Nevertheless, people who are against traveling by vehicles claim that cycling is the greenest 
solution amongst other methods. Perhaps the most important advantage of cycling is the 
benefits to our health and the old Mother Nature. Breathless and tired of sedentary lifestyle, 
people in polluted modern cities can improve their physical health by not using cars. The more 
environmentally friendly means of transportation, the less pollution and consequently healthier 
generation.

Based on the arguments cited above, I believe riding a bike have has myriad benefits which 
leads to a healthier, individuals besides less polluted cities. I hold the idea that not only can 
choosing bikes improve can boost our physical health but it also benefits others’ health by 
causing zero carbon footprint. I feel even only if a portion of people chose bikes, their decision 
would have a prominent impact on the environment.  


